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Appendix 2. Graphical depictions of 84 models listed in Appendix 1. The fitted black lines correspond to the mean parameter
estimates in the equations and in Appendix 1. The dark shading corresponds to the confidence interval for age, and and light
shading corresponds to the prediction interval for age.
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);
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SPK1 :   t̂ = e11.3 (Rt
 1.5 − (e−4.3) 1.5)

pL(t) =
1

t 2πe−1.2
 e−(log(t)−log(t))2 (2e−1.2)
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Appendix 2. Continued.  (model numbers correspond to models listed in Appendix 1);


